ON THE SPECTRAL PROPERTIES OF DEGENERATE NON-SELFADJOINT ELLIPTIC SYSTEMS OF DIFFERENTIAL OPERATORS

A. SAMERIPOUR AND A. AHOOGHALANDERI*

ABSTRACT. Let $(Pu)(t) = -\frac{d}{dt} \left(t^{\alpha} (1-t)^{\alpha} R(t) \frac{du(t)}{dt} \right)$ be a non - selfadjoint differential operator on Hilbert space $H_{\ell} = L^2(0,1)^{\ell}$ with Dirichlet-type boundary conditions. Here, $0 \leq \alpha < 1$, and $R(t) \in C^2([0,1], End \mathbb{C}^{\ell})$ denotes for each $t \in [0,1]$ the matrix function R(t). Let for each $t \in [0,1]$ the matrix function R(t) has ℓ -simple non-zero eigenvalues $\mu_j(t) \in C^2[0,1], \ j=1,\ldots,\ell$ arranged in the complex plane in the following way: $\mu_1(t),\ldots,\mu_{\ell}(t) \in \mathbb{C}\backslash\Phi$ where $\Phi=\{z\in\mathbb{C}: |arg\ z|\leq\varphi\},\ \varphi\in(0,\pi)$. In this paper we investigate some spectral properties of the degenerate non-selfadjoint elliptic differential operators P acting on H_{ℓ} . In particular, we will determine the resolvent estimate of the operator P that satisfies Dirichlet-type boundary conditions in spaces H_1 and H_{ℓ} .

MSC(2000): Primary 47F05

 $\textbf{Keywords:} \ \textbf{Resolvent}, \ \textbf{Asymptotic spectrum}, \ \textbf{Eigenvalues}, \ \textbf{Non-selfadjoin elliptic difference}, \ \textbf{Asymptotic spectrum}, \ \textbf{Eigenvalues}, \ \textbf{Non-selfadjoin elliptic difference}, \ \textbf{Non-selfadjoin elliptic difference},$

ferential operators

Received: 04 August 2002, Revised: 19 November 2003

^{*}Research supported by Lorestan University, Khorramabad, Iran.

^{© 2003} Iranian Mathematical Society.

1. Introduction

We consider the weighted Sobolev space $\mathcal{H}_{\ell} = W^1_{2,\alpha}(0,1)^{\ell}$ (ℓ -times) as the space of vector functions $u(t) = (u_1(t), \dots, u_{\ell}(t))$ defined on (0,1) with finite norm

$$|u|_{+} = \left(\int_{0}^{1} t^{\alpha} (1-t)^{\alpha} \left| \frac{du(t)}{dt} \right|_{\mathbf{C}^{\ell}}^{2} dt + \int_{0}^{1} |u(t)|_{\mathbf{C}^{\ell}}^{2}\right)^{1/2}.$$

Here, $0 \leq \alpha < 1$, and the notations $|\frac{du(t)}{dt}|^2_{\mathbf{C}^\ell}$, $|u(t)|^2_{\mathbf{C}^\ell}$ stand for the norm in space \mathbf{C}^ℓ . The above definition of the norm has been previously used. (See papers [9], [10].) Of course, this could also be done in matrix language, but at the cost of greater notational complexity. By $\mathring{\mathcal{H}}_\ell$ we denote the closure of $C_0^\infty(0,1)^\ell$ with respect to the above norm (i.e., $\mathring{\mathcal{H}}_\ell$ is the closure of $C_0^\infty(0,1)^\ell$ in \mathcal{H}_ℓ). $C_0^\infty(0,1)$ denotes the space of infinitely differentiable functions with compact support in (0,1). If $\ell=1$, then $H=H_1$, $\mathcal{H}=\mathcal{H}_1$, and $\mathring{\mathcal{H}}=\mathring{\mathcal{H}}_1$.

To get a feeling for the history of the subject under study, refer to papers [1-3]. In [1] the authors consider d ifferential operator

$$Pu = -(t^{\alpha}A(t)u'(t))' + Q(t)u(t), \ 0 \le \alpha < 2,$$

with Dirichlet-type boundary conditions in the space $H = L^2((0, T); C)$, and find the distribution function of a series of eigenvalues of the operator P. (See MR 91e:34088.) In [2] the authors consider a certain matrix elliptic differential operator A and calculate the principle term in the asymptotic expansion of the function $N_{\Phi}(t)$, representing the distribution of eigenvalues of the operator A in the sector Φ . (See MR 91m:35175.) In [3] the author studies the distribution of eigenvalues of the operator in H^n defined by

$$(Py)(t) = -(t^{\alpha}A(t)y'(t))' + C(t)y(t),$$

with matrix coefficients $A(t) \in C^{\infty}([0,1], End \mathbb{C}^n), C(t) \in C([0,1], End \mathbb{C}^n)$, (See MR 93k:34179.) In this paper, we consider the differential operator

$$(Pu)(t) = -\frac{d}{dt} \left(t^{\alpha} (1-t)^{\alpha} R(t) \frac{du(t)}{dt} \right), \quad (1.1)$$

be a degenerate non- selfadjoint differential operator on Hilbert space $H_{\ell} = L^2(0,1)^{\ell}$ with Dirichlet-type boundary conditions. Here, $0 \leq \alpha < 1$, and $R(t) \in C^2([0,1], End \mathbb{C}^{\ell})$ denotes for each $t \in [0,1]$ the matrix function R(t). Assume that R(t) has simple non-zero eigenvalues in the complex plane, arranged in different locations in view of $\Phi \subset \mathbb{C}$, where $\Phi = \{z \in \mathbb{C} : |arg z| \leq \varphi\}, \varphi \in (0,\pi)$. In this paper, we investigate some spectral properties of the degenerate non-selfadjoint elliptic differential operators P acting on H_{ℓ} . In particular, we will determine the resolvent estimate of the operator P which satisfies Dirichlet-type boundary conditions in spaces H_{ℓ} and H. Now, the domain of operator P is defined as follows:

$$D(P) = \{ u \in \overset{\circ}{\mathcal{H}}_{\ell} \cap W_{2,loc}^2(0,1)^{\ell} : \frac{d}{dt} \left(t^{\alpha} (1-t)^{\alpha} R \frac{du}{dt} \right) \in H_{\ell} \}$$

(see [7]). Here $W_{2, loc}^2(0, 1)^{\ell} = W_{2, loc}^2(0, 1) \times \cdots \times W_{2, loc}^2(0, 1)$ ($\ell - times$) where $W_{2, loc}^2(0, 1)$ the space of functions u(t) (0 < t < 1) satisfying the condition

$$\sum_{i=0}^{2} \int_{\varepsilon}^{1-\varepsilon} |u^{(i)}(t)|^{2} dt < \infty, \qquad \forall \varepsilon \in (0, \frac{1}{2}).$$

Here, and in the sequel, the value of the function arg $z \in (-\pi, \pi]$ and ||T|| denotes the norm of the bounded arbitrary operator T acting on H or H_{ℓ} . The paper has four sections. Section 1 is devoted to the introduction. In Section 2, we have Theorem 2.1 on the resolvent estimate of the differential operator A, acting on H in a certain case (i.e., in this case, we will study Theorem 2.1 under assumption (2.2)). In Section 3, we have Theorem 3.1 on the resolvent estimate of the differential operator A, acting on H in the general case (i.e., in this case, we will study Theorem 3.1 in contrast to Theorem 2.1. In other words, Theorem 3.1 does not include assumption (2.2) of Theorem 2.1). It is necessary to make further remarks regarding Theorem 2.1, and Theorem 3.1. We see that Theorem 2.1 under the assumption (2.2), leads to an assertion including two estimates (2.3) and (2.4). Meanwhile Theorem 3.1, without including assumption (2.2) of Theorem 2.1, leads to similar assertion, but asserts only statement (2.3) of Theorem 2.1, which becomes (3.2). In Section 4,

assume that for each $t \in [0, 1]$ the matrix function R(t) has ℓ -simple non-zero eigenvalues $\mu_j(t) \in C^2[0, 1], \ j = 1, \ldots, \ell$ arranged in the complex plane in the following way:

$$\mu_1(t), \ldots, \mu_\ell(t) \in \mathbf{C} \backslash \Phi.$$

Then we will estimate the resolvent of the differential operator P, acting on space $H_{\ell} = L^2(0,1)^{\ell}$.

2. Resolvent Estimate of A in $H = L_2(0.1)$

Theorem 2.1. Let $\Phi \subset \mathbf{C}$ be some closed sector with the vertex at 0, and set P = A, $R(t) = \mu(t)$ in (1.1) in Section 1. Then, we obtain

$$(Av)(t) = -\frac{d}{dt} \left(t^{\alpha} (1-t)^{\alpha} \mu(t) \frac{dv(t)}{dt} \right)$$
, acting on $H = L_2(0,1)$.
Assume that

$$\mu(t) \in C^2[0,1], \ \mu(t) \in \mathbf{C} \setminus \Phi, \quad \forall t \in [0,1],$$
 (2.1)

$$|arg\{\mu(t_1)\mu^{-1}(t_2)\}| \le \frac{\pi}{8}, \quad (\forall t_1, t_2 \in [0, 1]).$$
 (2.2)

Then, for sufficiently large numbers in modulus $\lambda \in \Phi$, the inverse operator

 $(A - \lambda I)^{-1}$ exists and is continuous in the space $H = L^2(0, 1)$, and the following estimates hold

$$\|(A - \lambda I)^{-1}\| \le M_{\Phi} |\lambda|^{-1} \ (\lambda \in \Phi, \ |\lambda| > C_{\Phi}),$$
 (2.3)

$$||t^{\alpha/2}(1-t)^{\alpha/2}\frac{d}{dt}(A-\lambda I)^{-1}|| \le M'_{\Phi}|\lambda|^{-\frac{1}{2}} (\lambda \in \Phi, \quad |\lambda| > C_{\Phi}),$$
(2.4)

where the numbers M_{Φ} , M'_{Φ} and $C_{\Phi} > 0$ are sufficiently large numbers depending on Φ where $\Phi = \{z \in \mathbf{C} : |arg z| \leq \varphi\}, \varphi \in (0, \pi).$

Proof. Here, to establish Theorem 2.1, we will first prove the assertion of Theorem 2.1 together with estimate (2.3). As in Section 1, for the closed extension of the operator A, (for more explanations, see chapter 6 of [7]), we need to extend its domain to the

$$D(A) = \{ v \in \mathring{\mathcal{H}} \cap W_{2 \mid \text{oc}}^{2}(0,1) : (t^{\alpha}(1-t)^{\alpha}\mu v')' \in H \}.$$

Let the operator A now satisfy (2.1) and (2.2), then, there exists a real $\gamma \in (-\pi, \pi]$, such that for the complex number $e^{i\gamma}$ we have $|e^{i\gamma}| = 1$, and so

$$c' \le Re\{e^{i\gamma}\mu(t)\}, \ c'|\lambda| \le -Re\{e^{i\gamma}\lambda\}, \ c' > 0 \ \forall \ t \in [0,1], \ \lambda \in \Phi.$$
(2.5)

For $v \in D(A)$ we will have

$$c' \int_0^1 t^{\alpha} (1-t)^{\alpha} |v'(t)|^2 dt \le Re \int_0^1 e^{i\gamma} t^{\alpha} (1-t)^{\alpha} \mu |v'(t)|^2 dt$$
$$= Re \{ e^{i\gamma} (Av, v) \}. \tag{2.6}$$

Here the symbol (,) denotes the inner product in H. Notice that the equality in (2.6) above obtains by the well-known theorem of the m-sectorial operators, (For further explanations see the well-known Theorem 2.1, chapter 6 of [7].) By (2.5), we have $c'|\lambda| \leq -Re\{e^{i\gamma}\lambda\}, c'>0, \ \forall \lambda \in \Phi$. Multiplying the latter inequality by $\int_0^1 |v(t)|^2 dt = (v, v) = ||v||^2 > 0$, then

$$c'|\lambda| \int_0^1 |v(t)|^2 dt \le -Re\{e^{i\gamma}\lambda\}(v, v).$$

By the latter inequality and (2.6), and by considering c' = 1/M, it follows that

$$\int_{0}^{1} t^{\alpha} (1-t)^{\alpha} |v'(t)|^{2} dt + |\lambda| \int_{0}^{1} |v(t)|^{2} dt
\leq MRe\{e^{i\gamma}(A,v) - e^{i\gamma} \lambda(v,v)\}
= MRe\{e^{i\gamma}((A-\lambda I)v,v)\}
\leq M||e^{i\gamma}||||v||||(A-\lambda I)v||
= M||v||||(A-\lambda I)v||.$$
(2.7)

Or

$$\int_0^1 t^{\alpha} (1-t)^{\alpha} |v'(t)|^2 dt + |\lambda| \int_0^1 |v(t)|^2 dt \le M ||v|| ||(A - \lambda I)v||.$$

Since $\int_0^1 t^{\alpha} (1-t)^{\alpha} |v'(t)|^2 dt$ is positive, we will have

$$|\lambda|||v(t)||^2 = |\lambda| \int_0^1 |v(t)|^2 dt \le M||v|| ||(A - \lambda I)v||, \qquad (2.8)$$

i.e.,

$$|\lambda|||v|| \le M||(A - \lambda I)v||.$$

The above relation ensures that the operator $(A - \lambda I)$ is a oneto- one operator, which implies that $ker(A - \lambda I) = 0$. Therefore, the inverse operator $(A - \lambda I)^{-1}$ exists, and its continuity follows from the proof of the estimate (2.3) of Theorem 2.1. To prove (2.3), we set $v = (A - \lambda I)^{-1}f$, $f \in H$ in (2.8), so that

$$|\lambda| \int_0^1 |(A - \lambda I)^{-1} f|^2 dt \le M \|(A - \lambda I)^{-1} f\| \|(A - \lambda I)(A - \lambda I)^{-1} f\|.$$

Since $(A - \lambda I)(A - \lambda I)^{-1}f = I(f) = f$, it follows that

$$|\lambda| \int_0^1 |(A - \lambda I)^{-1} f|^2 dt \le M ||(A - \lambda I)^{-1} f|| |f|.$$

Therefore.

$$|\lambda| \|(A - \lambda I)^{-1}(f)\|^2 \le M \|(A - \lambda I)^{-1}(f)\| \|f\|.$$

By canceling the positive term $||(A - \lambda I)^{-1}(f)||$ from both sides of the latter inequality, we will find

$$|\lambda| ||(A - \lambda I)^{-1}(f)|| \le M|f|,$$

and since $\lambda \neq 0$, we imply that $||(A - \lambda I)^{-1}(f)|| \leq M|\lambda|^{-1}|f|$. The end result is

$$||(A - \lambda I)^{-1}|| \le M_{\Phi} |\lambda|^{-1}.$$

This completes the proof of the estimate (2.3) from Theorem 2.1.

To prove the estimate (2.4) of Theorem 2.1. As in the first arguments to prove estimate (2.3) above, here, we drop the positive term $|\lambda| \int_0^1 |v(t)|^2 dt$ from

$$\int_0^1 t^{\alpha} (1-t)^{\alpha} |v'(t)|^2 dt + |\lambda| \int_0^1 |v(t)|^2 dt \le M|v| \|(A - \lambda I)v\|.$$

It follows that

$$\int_0^1 t^{\alpha} (1-t)^{\alpha} |v'(t)|^2 dt \le M|v| \|(A - \lambda I)v\|.$$

Set $v = (A - \lambda I)^{-1} f$, $f \in H$ in the latter inequality, and as above, by proceeding with similar calculations, we then obtain:

$$\begin{split} \int_0^1 t^{\alpha} (1-t)^{\alpha} |\frac{d}{dt} (A-\lambda I)^{-1} f(t)|^2 dt \\ & \leq M \|(A-\lambda I)^{-1} f\| \|(A-\lambda I) (A-\lambda I)^{-1} f\|. \\ \text{Since } (A-\lambda I) (A-\lambda I)^{-1} f = f, \text{ and} \end{split}$$

$$\int_0^1 t^{\alpha} (1-t)^{\alpha} \left| \frac{d}{dt} (A-\lambda I)^{-1} f(t) \right|^2 dt \le M \| (A-\lambda I)^{-1} f \| |f|,$$

consequently by (2.3) we have $||(A - \lambda I)^{-1}f|| \leq M|f||\lambda|^{-1}$. Then,

$$\int_0^1 t^{\alpha} (1-t)^{\alpha} \left| \frac{d}{dt} (A-\lambda I)^{-1} f(t) \right|^2 dt$$

$$< M \| (A-\lambda I)^{-1} f \| \| f \| < M M |\lambda|^{-1} \| f \|^2.$$

Therefore,

$$\int_0^1 t^{\alpha} (1-t)^{\alpha} \left| \frac{d}{dt} (A-\lambda I)^{-1} f(t) \right|^2 dt \le M_{\Phi} |\lambda|^{-1} |f|^2;$$
i.e., $||t^{\alpha/2} (1-t)^{\alpha/2} \frac{d}{dt} (A-\lambda I)^{-1} f||^2 \le M_{\Phi} |\lambda|^{-1} |f|^2.$ i.e.,
$$||t^{\alpha/2} (1-t)^{\alpha/2} \frac{d}{dt} (A-\lambda I)^{-1} f|| \le M_{\Phi}' |\lambda|^{-\frac{1}{2}} |f|.$$

Consequently,

$$||t^{\alpha/2}(1-t)^{\alpha/2}\frac{d}{dt}(A-\lambda I)^{-1}|| \le M'_{\Phi}|\lambda|^{-\frac{1}{2}}.$$

This estimate completes the proof of (2.4); Theorem 2.1 is thereby proved. \Box

3. Resolvent Estimate of A in $H = L_2(0,1)$ in General Case

In this section, we will derive a new general theorem by dropping assumption (2.2) from Theorem 2.1 in Section 2.

Theorem 3.1. Let Φ and A be defined as in Theorem 2.1, and let that except for assumption (2.2) of Theorem 2.1, all other assumptions are satisfied: Let the differential operator $(Av)(t) = -\frac{d}{dt} \left(t^{\alpha}(1-t)^{\alpha}\mu(t)\frac{dv(t)}{dt}\right)$, acting on $H = L_2(0,1)$. Assume that

$$\mu(t) \in C^2[0,1], \quad \mu(t) \in \mathbf{C} \setminus \Phi, \quad \forall t \in [0,1].$$
 (3.1)

Then, for a sufficiently large number in modulus $\lambda \in \Phi$, the inverse operator

 $(A - \lambda I)^{-1}$ exists and is continuous in space $H = L^2(0, 1)$, and the following estimate holds:

$$||(A - \lambda I)^{-1}|| \le M_{\Phi} |\lambda|^{-1} \tag{3.2}$$

where M_{Φ} , $C_{\Phi} > 0$ are sufficiently large numbers depending on Φ and $|\lambda| > C_{\Phi}$.

Proof. To prove the assertion of Theorem 3.1, we construct the functions $\varphi_{(1)}(t), \ldots, \varphi_{(\rho)}(t), \mu_{(1)}(t), \ldots, \mu_{(\rho)}(t)$ so that each one of the functions $\mu_{(j)}(t)$ $j = 1, \ldots, \rho$ $(t \in supp \varphi_{(j)})$, as the function $\mu(t)$ in Theorem 2.1 satisfies (2.2). Therefore, let

$$\mu_{(1)}(t), \ldots, \mu_{(\rho)}(t), \quad \varphi_{(1)}(t), \ldots, \varphi_{(\rho)}(t) \in C^{\infty}[0, 1]$$

satisfy

$$0 \le \varphi_{(j)}(t), \ j = 1, \dots, \rho, \quad \varphi_{(1)}^2(t) + \dots + \varphi_{(\rho)}^2(t) \equiv 1 \quad (0 \le t \le 1)$$

$$\frac{d}{dt}\varphi_{(j)}(t) \in C_0^{\infty}(0,1), \quad \mu_{(j)}(t) = \mu(t), \quad \forall t \in supp \ \varphi_{(j)}$$

$$\mu_{(j)}(t) \in \mathbf{C} \backslash S, \quad \forall t \in [0, 1], \quad j = 1, \dots, \rho.$$

$$|\arg\{\mu_{(j)}(t_1)\mu_{(j)}^{-1}(t_2)\}| \le \frac{\pi}{8}, \quad (\forall t_1, t_2 \in supp \ \varphi_{(j)}), \quad j = 1, \dots, \rho.$$

In view of Theorem 2.1, and by (2.3) and (2.4) set $(A_{(j)}v)(t) = A(t)$, we will have the differential operator

$$(A_{(j)}v)(t) = -\frac{d}{dt}\left(t^{\alpha}(1-t)^{\alpha}\mu_{(j)}(t)\frac{dv(t)}{dt}\right)$$

acting on $H = L_2(0,1)$ where

$$D(A_{(j)}) = \{ v \in \overset{\circ}{\mathcal{H}} \cap W_{2,loc}^2(0,1), \quad (t^{\alpha}(1-t)^{\alpha}\mu_{(j)}v')' \in H \}.$$

Due to the assertion of Theorem 2.1, for $0 \neq \lambda \in \Phi$ the inverse operator $(A - \lambda I)^{-1}$ exists and is continuous in space $H = L^2(0, 1)$ and satisfies $||(A_{(j)} - \lambda I)^{-1}|| \leq M_1 |\lambda|^{-1}$,

$$||.t^{\alpha/2}(1-t)^{\alpha/2}\frac{d}{dt}(A_{(j)}-\lambda I)^{-1}|| \le M_1|\lambda|^{-\frac{1}{2}}, (0 \ne \lambda \in \Phi).$$
 (3.3)

Let us introduce

$$T(\lambda) = \sum_{j=1}^{\rho} \varphi_{(j)} (A_{(j)} - \lambda I)^{-1} \varphi_{(j)}.$$
 (3.4)

Here $\varphi_{(j)}$ is the multiplication operator in H by the function $\varphi_{(j)}(t)$. Consequently,

$$(A - \lambda I)T(\lambda)v = I_1 + I_2 + I_3 + I_4$$

where

$$I_{1} = -\sum_{j=1}^{\rho} \left[t^{\alpha} (1-t)^{\alpha} \mu(\varphi_{(j)})'_{t} \right]'_{t} (A_{(j)} - \lambda I)^{-1} \varphi_{(j)} v,$$

$$I_{2} = -\sum_{j=1}^{\rho} t^{\alpha} (1-t)^{\alpha} \mu(\varphi_{(j)})'_{t} \frac{d}{dt} (A_{(j)} - \lambda I)^{-1} \varphi_{(j)} v,$$

$$I_{3} = -\sum_{j=1}^{\rho} \varphi_{(j)} \left[t^{\alpha} (1-t)^{\alpha} \mu \frac{d}{dt} (A_{(j)} - \lambda I)^{-1} \varphi_{(j)} v \right]'_{t},$$

$$I_{4} = -\lambda \sum_{j=1}^{\rho} \varphi_{(j)} (A_{(j)} - \lambda I)^{-1} \varphi_{(j)} v.$$

As $\mu_{(j)}(t) = \mu(t)$ ($\forall t \in supp \ \varphi_{(j)}$), replace $\mu(t)$ by $\mu_{(j)}(t)$ in the sum I_3 . Then, in view of $\sum_{j=1}^{\rho} \varphi_{(j)}^2(t) \equiv 1$, we will have

$$I_{3} + I_{4} = -\sum_{j=1}^{\rho} \varphi_{(j)} [t^{\alpha} (1-t)^{\alpha} \mu_{(j)} \frac{d}{dt} (A_{(j)} - \lambda I)^{-1} \varphi_{(j)} v)'_{t}$$

$$+ \lambda (A_{(j)} - \lambda I)^{-1} \varphi_{(j)} v]$$

$$= \sum_{j=1}^{\rho} \varphi_{(j)} (A_{(j)} - \lambda I) [A_{j} - \lambda I)^{-1}] \varphi_{(j)} v = \sum_{j=1}^{\rho} \varphi_{(j)}^{2} v = v.$$

i.e., $I_3 + I_4 = v$. When considering $I_1 + I_2 = G(\lambda)v$, then

$$(A - \lambda I)T(\lambda)v = v + G(\lambda)v$$
. Or equivalently
 $(A - \lambda I)T(\lambda) = I + G(\lambda)$. (3.5)

using the fact that $\varphi_{(j)'_t} \in C^{\infty}(0,1)$, and by (3.3), we can estimate I_1, I_2 as follows:

$$|I_1| \le M \sum_{j=1}^{\rho} |(A_{(j)} - \lambda I)^{-1} \varphi_{(j)} v| \le M |\lambda|^{-1} |v|,$$

$$|I_2| \le M \sum_{i=1}^{\rho} \left| \frac{d}{dt} (A_{(i)} - \lambda I)^{-1} \varphi_{(i)} v \right| \le M'' |\lambda|^{-\frac{1}{2}} |v|.$$

Using these estimates, and in view of $G(\lambda)$ above, we will have $||G(\lambda)(v)|| \leq |I_1| + |I_2| \leq M|\lambda|^{-1}|v| + M"|\lambda|^{-\frac{1}{2}}|v|$,

 λ is a sufficiently large number, implying that $|\lambda|^{-1} \leq |\lambda|^{-\frac{1}{2}}$ then

$$||G(\lambda)|| \le M_{\Phi}' |\lambda|^{-\frac{1}{2}}.$$
 (3.6)

By this λ , we can also have $||G(\lambda)|| \leq \frac{1}{2} < 1$, where $\lambda \in \Phi$. Now, by this, and using the well-known theorem in operator theory, we conclude that $I + G(\lambda)$ and hence, by (3.5), $(A - \lambda I)T(\lambda)$ are invertible. Therefore $((A - \lambda I)T(\lambda))^{-1}$ exists, and by (3.5)

$$(T(\lambda))^{-1}(A - \lambda I)^{-1} = (I + G(\lambda))^{-1}.$$
 (3.7)

Adding +I and -I to the right side of (3.7) it follows that

$$(T(\lambda))^{-1}(A - \lambda I)^{-1} = (I + G(\lambda))^{-1} - I + I.$$

Setting $F(\lambda) = (I + G(\lambda))^{-1} - I$ implies that

$$(T(\lambda))^{-1}(A - \lambda I)^{-1} = I + F(\lambda).$$

In view of $||G(\lambda)|| \leq \frac{1}{2} < 1$, and (3.6), by applying the geometric series for $F(\lambda)$:

$$||F(\lambda)|| \le \sum_{i=1}^{+\infty} ||G^k(\lambda)|| \le ||G(\lambda)|| (1 + ||G^k(\lambda)|| + ||G^k(\lambda)||^2 + \dots)$$

$$\le ||G(\lambda)|| (1 + 1/2 + 1/4 + \dots)$$

$$\le 2M'_{\Phi} |\lambda|^{-1/2}$$

i.e.,

$$||F(\lambda)|| \le M 1_{\Phi} |\lambda|^{-1}.$$

Now, by (3.3) and (3.4),

$$||T(\lambda)|| = ||\sum_{j=1}^{\rho} \varphi_{(j)} (A_{(j)} - \lambda I)^{-1} \varphi_{(j)}||$$

$$\leq M^{"}_{\Phi} ||(A_{(j)} - \lambda I)^{-1}||$$

$$\leq M^{"}_{\Phi} M_{\Phi} |\lambda|^{-1} = M 2_{\Phi} |\lambda|^{-1};$$

i.e.,

$$||T(\lambda)|| \le M2_{\Phi}|\lambda|^{-1}.$$

By this and (3.7), it follows that

$$||(A - \lambda I)^{-1}|| = ||T(\lambda)|| ||I + F(\lambda)||$$

$$\leq M 2_{\Phi} |\lambda|^{-1} ||(1 + M 1_{\Phi} |\lambda|^{-1})$$

$$\leq M 2_{\Phi} |\lambda|^{-1} + M 1_{\Phi} M 2_{\Phi} |\lambda|^{-2}.$$

Since $|\lambda|^{-2} \le |\lambda|^{-1}$, then,

$$\|(A - \lambda I)^{-1}\| \le M_{\Phi} |\lambda|^{-1}, \ (|\lambda| \ge C_{\Phi}, \quad \lambda \in \Phi).$$

This estimate completes the proof of (3.2); Theorem 3.1 is thereby proved. \Box

4. Asymptotic resolvent of degenerate elliptic differential operators in $L_{\ell}(0,1)$

Let P and R be as defined in Section 1. Suppose that there exists some closed sector $S \subset \mathbf{C}$, with the origin at zero, free from eigenvalues of the matrix R(t), $(0 \le t \le 1)$. Consider those eigenvalues $\mu_1(t), \ldots, \mu_\ell(t)$ of the matrix R(t), such that $\mu_j(t) \in C^2[0,1]$, and convert the matrix R(t) to the form

$$R(t) = U(t)\Lambda(t)U^{-1}(t)$$
, where $U(t), U^{-1}(t) \in C^{2}([0, 1], End \mathbb{C}^{\ell})$ and

$$\Lambda(t) = diag\{\mu_1(t), \dots, \mu_\ell(t)\}.$$

Consider the space $H_{\ell} = H \oplus \cdots \oplus H$ (ℓ -times), and so consider in the space H_{ℓ} the operator 0

$$B(\lambda) = diag\{(P_1 - \lambda I)^{-1}, \dots, (P_{\ell} - \lambda I)^{-1}\}, \tag{4.1}$$

where the operator P_j satisfies $(P_j v)(t) = -\frac{d}{dt} \left(t^{\alpha} (1-t)^{\alpha} \mu_j \frac{dv(t)}{dt} \right)$,

$$D(P_j) = \{ v \in \overset{\circ}{\mathcal{H}} \cap W_{2, loc}^2(0, 1) : \frac{d}{dt} \left(t^{\alpha} (1 - t)^{\alpha} \mu_j \frac{du}{dt} \right) \in H \}.$$

$$(4.1)'$$

According to the results obtaining from Section 3, for sufficiently large absolute values of $\lambda \in S$, the operator $B(\lambda)$ exists and is continuous. Consider the operator $\Gamma(\lambda) = UB(\lambda)U^{-1}$, in which (Uu)(t) = U(t)u(t), $(u \in H_{\ell})$. We have

$$(P - \lambda I)\Gamma(\lambda)u = -\frac{d}{dt} \left(t^{\alpha} (1 - t)^{\alpha} R(t) \frac{d}{dt} (U(t)B(\lambda)U^{-1}(t)u(t)) \right)$$
$$= T_1 + T_2 + T_3,$$

where, T_1 is equal to the following:

$$-\frac{d}{dt}\left(t^{\alpha}(1-t)^{\alpha}R(t)U(t)\frac{d}{dt}B(\lambda)U^{-1}(t)u(t))\right)$$

$$= -\frac{d}{dt}(t^{\alpha}(1-t)^{\alpha}U(t)\Lambda(t)\frac{d}{dt}B(\lambda)U^{-1}u(t))$$

$$= -U\frac{d}{dt}(t^{\alpha}(1-t)^{\alpha}\Lambda(t)\frac{d}{dt}B(\lambda)U^{-1}u)$$

$$-U'(t)t^{\alpha}(1-t)^{\alpha}\Lambda\frac{d}{dt}B(\lambda)U^{-1}u$$

$$= \lambda UB(\lambda)U^{-1}u - U'(t)t^{\alpha}(1-t)^{\alpha}\Lambda\frac{d}{dt}B(\lambda)U^{-1}u + UU^{-1}u,$$

$$T_{2} = -\frac{d}{dt}\left(t^{\alpha}(1-t)^{\alpha}RU'B(\lambda)U^{-1}u\right), \quad T_{3} = -\lambda U(t)B(\lambda)U^{-1}u.$$

Here we use the equality

$$-\frac{d}{dt}(t^{\alpha}(1-t)^{\alpha}\Lambda\frac{d}{dt}B(\lambda)V) = V + \lambda B(\lambda)V, \qquad V = U^{-1}u.$$

Since $(t^{\alpha}(1-t)^{\alpha})^2 \leq M t^{\alpha}(1-t)^{\alpha}$, and from the above relations and the estimate (3.9), we will have

$$(P - \lambda I)\Gamma(\lambda) = I + T_1^0 + T_2^0$$
, where $T_2^0 = t^{\alpha}(1 - t)^{\alpha}RU'B(\lambda)U^{-1}$, $||T_1^0|| \le M|\lambda|^{-1/2}$ $(\lambda \in Q, |\lambda| \ge c)$.

For estimates of the operator T_2^0 , the Hardy-type inequality is useful (see [5]). Thus, for a sufficiently large absolute-value of $\lambda \in S$, the estimate $||T_2^0|| \leq M'|\lambda|^{-1/2}$ is true, and so we have

$$(P - \lambda I)\Gamma(\lambda) = I + \mathcal{F}(\lambda), \quad \|\mathcal{F}(\lambda)\| \le M|\lambda|^{-\frac{1}{2}} \quad (\lambda \in S, \quad |\lambda| > c').$$

$$(4.2)$$

According to the assumptions made for $\lambda \in S$, $|\lambda| > c$, the range of the operator $P - \lambda I$ coincides with H_{ℓ} . The operator P^* and its domain $D(P^*)$ have the same structures as P, D(P). Therefore, for a sufficiently large absolute value of $\lambda \in S$, the range of the operator $P^* - \lambda I$ coincides with H_{ℓ} , and consequently, $ker(P - \lambda I) = 0$. This equality by (4.2) proves the existence of the continuous operator $(P - \lambda I)^{-1}$, which satisfies

$$(P - \lambda I)^{-1} = \Gamma(\lambda)(I + \mathcal{Y}(\lambda)) \tag{4.3}$$

in which the operational-function $\mathcal{Y}(\lambda)$ has the estimate

$$\|\mathcal{Y}(\lambda)\| \le M|\lambda|^{-\frac{1}{2}} \quad (\lambda \in S, \ |\lambda| > c_0) \tag{4.4}$$

Recall that

$$\Gamma(\lambda) = UB(\lambda)U^{-1}, \ B(\lambda) = diag\{(P_1 - \lambda I)^{-1}, \dots, (P_\ell - \lambda I)^{-1}\}\$$
(4.5)

As in (3.9), Q = S, $A = P_j$, $j = 1, ..., \ell$. By (4.3)-(4.5), we get $\|(P_j - \lambda I)^{-1}\| \le M|\lambda^{-1}$,

 $||t^{\alpha/2}(1-t)^{\alpha/2}\frac{\overline{d}}{dt}(P_j-\lambda I)^{-1}|| \leq M|\lambda|^{-\frac{1}{2}} \quad (\lambda \in S, \ |\lambda| \geq c), \text{ which proves Theorem 2.1.}$

REFERENCES

- [1] K. Kh. Boimatov and A. G. Kostyuchenko, Distribution of eigenvalues of second-order non-selfadjoint differential operators, (Russian) Vest. Moskov. Univ. Ser. I Mat. Mekh, No. 3 (1990), 24-31; translation in Moscow Univ. Math. Bull. 45, No. 3 (1990), 26-32, MR 91e:34088.
- [2] K. Kh. Boimatov and A. G. Kostychenko, The spectral asymptotics of non-selfadjoint elliptic systems of differential operators in bounded domains, *Matem. Sbornik*, Vol. 181, No. 12 (1990), 1678-1693 (Russian); English transl. in *Math. USSR Sbornik* Vol. 71, No. 2 (1992), 517-531.
- [3] K. Kh. Boimatov, Asymptotic of the spectum of non-selfadjoint systems of second-order differential operators, (Russian) *Mat. Zametki*, Vol. 51, No. 4 (1992), 8-16, translation in *Mate. notes* 51 (1992), 330-337, MR 93k:34179.

- [4] K. Kh. Boimatov and K. Seddighi, Some spectral properties of ordinary differential operators generated by noncoercive forms, *Dokl. Akad. Nauk. Rossyi*, 352, No. 4 (1997), 439-442 (Russian).
- [5] K. Kh. Boimvatov, Spectral asymptotics of non-selfadjoint degenerate elliptic systems of differential operators, *Dokl. Akad. Nauk. Rossyi*, Vol. 330, No. 6 (1993), (Russian); English transl. In *Russian Acad. Sci. Dokl. Math.* Vol. 47, N3 (1993), 545-553.
- [6] I. C. Gokhberg and M. G. Krein, Introduction to the Theory of linear nonselfadjoint operators in Hilbert space, Amer. Math. Soc., Providence, R. I., 1969.
- [7] T. Kato, Perturbation Theory for Linear Operators, Springer, New York, 1966.
- [8] M. A. Naymark. Linear differential operators, Moscow. Nauka, 1969.
- [9] A. Sameripour and K. Seddigh, Distribution of the eigenvalues non-selfadjoint elliptic systems that degenerated on the boundary of domain, (Russian) Mat. Zametki 61, No. 3 (1997), 463-467 translation in Math. Notes 61, No. 3-4 (1997), 379-384
- [10] A. Sameripour and K. Seddigh, On the spectral properties of generalized non-selfadjoint elliptic systems of differential operators degenerated on the boundary of domain, *Bull. Iranian Math. Soc.*, Vol. 24, No. 1 (1998), 15-32.
- [11] A. A. Shkalikov, Tauberian type theorems on the distribution of zeros of holomorphic functions, *Matem. Shornik* Vol. 123 (165), No. 3 (1984), 317-347; English transl. in *Math. USSR-sb.* 51, (1985), 317-347.

A. Sameripour

Department of Mathematics Lorestan University Khorr Amabad Iran

e-mail:asameripour@yahoo.com

A. Ahooghalanderi

Department of Mathematics Lorestan University Khorr Amabad Iran

e-mail:ghalandari2000@yahoo.com